CRUCINUMERO

Orizzontale
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3u, 71da, 1 uk, 3dak.

10!

Qual e il secondo addendo di 151+ ...... =409

La meta di 80

Trova il minuendo ......... +963 = 4063
Duecentottantaquattromilanovecentotrentasette
14,01 + 2,99=

30 u, 2 h, 53 dak, 6 hk.

25x 100 +30 x 100 +250x 2 + 10

476> ....>474

Verticale

Trova il divisore 24 : ... =2
1/3 di 2256

103

8x6-7=

2/5 di 980

69+52x6 =

.11x9=

. 396,75 x 12=

. 362<.....<364

. 7x1000+5x100+2x10+4x1
. 10000 — 3995 =

.2,5%x134,8=

. Il doppio di 23

. 2/5di125



